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089MI630 M0 JobGBHMEgdgdo: goegHol dgomeo
LsHyolo 3603369 MdOL s3M35bs:
v =f(z,y);  y(zo) = Yo
y(xn +h) ~ y(z,) + hy'(z,).

Uni1 = Yn + hy,, .

y;, — f(Il'!yH)a

Yntl = Yn + hf(irn: yn)

T Euler(z) | Exact(z)

0.00 1.00000 1.00000
0.05 1.02500 1.02532

35250MOMO: F

oo y = 0.5y 010 | 1.05063 | 1.05127
0.15 | 1.07680 | 1.07788
. 020 | 1.10381| 1.10517

2
3B50BOO 5dmbaoblbo: y(x) = e™’=. 025 | 1.13141 | 1.13315
_ Y ) 1.00 | 1.6382 | 1.64872
©OLIMIHYIWO 0sORO (stencil):  Yn+1 = Un 9 2.00 | 2.68506 | 2.71828

b | =

3.00 4.39979 4.48169
) 0| )

= (1+

5.00 | 11.81372 | 12.18249
10.00 | 139.56389 | 148.41316
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90egMoL 3900m©0: 3gmeY (S 3505¢0) MOYOL ©OR. 35bGMMgdgdo

y" = fz,y)
53b3o6Mg 33500 s MO 3003900 MOYOL OG. FobEGHMWYdgdOL LoliEgds:
2 = Zy = f(=,Zy)
Zo=vy Zy = Zs

90960l oL3MYEH0BE0S (,d5MT0MGdS):

Zi = 70 4 hf (2, Z7)
Zytt =77 + hzl

N ©0og0l ©0g. 35bEmemgds: (N -1) ©s8bds6g 3300 ©s N go@sddmmwo 30639w0 Mool g, 5BEGHMMIDS;

90egMoL dgom©ol m30l9d9d0 A R
A 5

+ Lo H039; Az 3 A4 ) Co

- LOBNLEO; Ap Al -~ .'f/“ \s
AN

- 09300M30L YOHMZI0Y; Ao —r M T
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39960l 8gonmeo
(Predictor-corrector method)
yf = f(t:ly)j y(tﬂ) = Yo,
1. Predict: Yirr = yi + RS (L, u:).
“50blbgero (33we©0”
2. Correct: Yit1 = Yi + %h(f(f-z'.- yz‘]' -+ f(f-z'+1_- §’z‘+1})-
»30209JBHMO0”

Do03mqdmom sbMob 3mmbol Hobsbfomdg@yzgugds s 9gufim®mqds: sb®mol 32900b0b gsbsd-sermgds;
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W heconooss

Corrector

QbMOL 3Mmbol FgLoggoligdws 3099bgdm mE (LsHyol s LEdMEMM) FgMEHOWL: AgmMg MHogol Lidqds;

N §96Eo@ol g59myqbgdom d9a30d0s 359Mm30Yy3s6mm N-9 ool oolizmg@wmeo Bdqds;
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296PM0MYdMmo G1ba-37¢° bgdgdo

dy
= — f(t
QOL3MYAHMIEO 05MYO:
Ynt1 = Yn + hzbzkz
i=1
LoOE:

ki =f (f-n + cihy +hzﬂéjkj) :

i=1

©oL3M9AMo bgdol 3oMedgEH®gdo: aij , Di, Ci

Ci - 369©0JGHMM900L G5M©gbeds; Ci | Q11 @2 ... fig
Co | gy fda ... (lgg
1930l 30BN BsE0s: B3BYMOL (3bMoo (Batcher tableau)

CS H‘Sl H'SE [ H‘Ss

@0l 320992900 J3s6:0009800 Uglgdol 30Y15¢m0bsios bGogerom;

3599¢000:

90 96M0b 3gm@ob Foedmoaqbs 353gMolL sbOHowoom:
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BMa090H0 ©Eol3MYE o I9mMEO

0 0 0 0
b9 3L Igbsdg MHogol dgommeoo RK3: 1 / 2(1/2 0 0

1 [ -1 2 0
1/6 2/3 1/6

0 0 0 0
1/211/2 0 0 0
6939-3793SL 3EoL03MOOo Fgmmbg Mool dgmmeoo RK4: 1 K 21 0 1 / 2 0 0
0 0 1 0
d9L505d0LO OLIMGEH™MEO MIOYO: 1/6 1 / 31 /J 1 /ﬁ

Yn+1 = Un + = (kl + 21‘-2 + 2'1"3 + JIL;)
ll’-:'H—l - "ﬁ. + h

f(tnyn),

Fltn+ 5. yn + 5k1),
ft

flt

n‘i‘ 21y71+ hk?)

n+ h y Un + hk?:) U U U ! 0

1/3/1/3 0 0 0
2/3|-1/3 1 0 0
1|l 1t -1 1 0
1/8 3/8 3/8 1/8

629-39@5L 3/8 Mool Igommeo (Kutta 1901):
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©oL3MgEHo Bggds BoJuoMgdmo LoBMLEOm: 5EI3EHWMO doxo

QOL3MYAHMIEO 05MYO:
Y1 = Yn+ R D Bik;,
i=1
3OMI0Egds:
il = Ynt1— Yny =h b; — b )k,
€n41 Ynt+1 yﬂ.+1 ;( t)k’ﬁ. e lay  ag a1,
Cy | Q21 d22 gs
3M30Eg00L Hoboslfo® dm39dmeo Loogy: tolerance : :
Ce | A1 g2 g
en < tolerance : 999930 doxO by b b,
en > tolerance dox ol 2obsbg36gds - RK Lggdol Gogol dmds@gds, RK4->RK5 by b3 bt

MM 35b-300630L dgorm©o (MATLAB ode45):

0

1/5 (1/5

3/10|3/40 9/40

4/5 |44/45 —56/15 32/9

8/9 |19372/6561 —25360/2187 64448/6561 —212/729

1 [9017/3168 —355/33 46732/5247 49/176  —5103/18656

1 [35/384 0 500/1113 125/192 -2187/6784 11/84
5179/57600 O 7571/16695 393/640 —92097/339200 187/2100 1/40
35/384 0 500/1113 125/192 -2187/6784 11/84 0O
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ode23s,

ode?23t

MATLAB ODE
[T,Y] = solver(odefun, tspan,y0,options)
solvers: ode23, oded5, odell3, odelb5s,
odefun  gbdiool Lobgwo
tspan MM®OL (56039bE0b) 39d@GH™M0
y 0 LoHyolo 360dzbgmdgd0
options: relative tolerance, absolute tolerance;

35@9d0L LBESBIM GO LrEg9M9do:

Solver Problem Type
ode45 Nonstiff

ode?23 Nonstiff

0odell3 Nonstiff

odel5s Stiff

ode23s Stiff

ode23t Moderately Stiff
ode23tb Stiff

Order of
Accuracy
Medium
Low

Low to high

Low to medium
Low

Low

Low

When to Use

Most of the time. This should be the first
solver you try.

For problems with crude error tolerances or for
solving moderately stiff problems.

For problems with stringent error tolerances or
for solving computationally intensive problems.
If ode45 is slow because the problem is stiff.
If using crude error tolerances to solve stiff
systems and the mass matrix is constant.

For moderately stiff problems if you need a
solution without numerical damping.

If using crude error tolerances to solve stiff
systems.
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3539¢0m0:

(1) = sin(t) - y(1)

y(0) =1

function dy

dy

main.m

t0 = 0;
tfin=15;

NSTEPS = 100;

for j=1:NSTEPS

end

options = odeset('RelTol',le-5, 'AbsTol',6le-7);
y0o = 1;

[t,y] = oded5(Qode egs,tspan,y0,options);
figure (1) ;

plot(t,y

) ;
xlabel ('t"');
ylabel ('y'");

tspan(j)= t0 + (j-1)* (tfinal-t0)/ (NSTEPS-1);

sin(t)

ode egs.m

ode egs(t,y);

yr
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dgmeg MHogolb B39w9gdM0gz Fo6mdmgdmmosbo og. sb@memgds:

h=y
Sbowo 33e5gd0: dy
V2=
DOz3030 Lol gds:
main.m

t0 = 0; tfinal=2;
NSTEPS = 100;

vyl = 0; y2 = 1;
for jJ=1:NSTEPS
tspan(j)= t0 + (j-1)*(tfinal-t0)/ (NSTEPS-1) ;

end

options = odeset ('RelTol',le-5, 'AbsTol',le-7);
init = [yl,y2];

[t,y] = oded5(Coden egs,tspan,init,options);
Al = y(:,1);

A2 = y(:,2);

figure (1) ;

plot (t,Al)

xlabel ('t'

'th);
ylabel ('y"');

dﬂ

Eym = —2n?sin(t)%y(t)

d .
Eyl {f) = y2(t)

d 2 .
Eyz{f_) = —2m% sin(t) %y (¢)

oden _egs.m

function dy = oden egs(t,y);
dy = ones(2,1);

dy (1)
dy (2)

v(2);
2*pit2*sin(t) *"2*y (1) ;
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©535¢0905 8.1.
030390 MM 96:30L 5EGMoJBHMEOOL 5dMbsblibo (0-500) Mmoo 0bEgezswdo bgsalibgs 89dmbgggomo Lsfigolo
306Md9gd0Lm30U:
r'(t) = 10(y — z) z(0) = brand,;
y'(t)=2(28 —2)—y y(0) = 5rand,
2'(t) = xy — 2.72 2(0) = 5rand,
535¢00ds 8.2.

5dmbligbom 39wd3m 3ol 4ob@megds

r dr dr

RENEIANSN

BsLsBE3OH™ 3om@dom B,(0)=0, dB,(0)/dr=1 89890 356589&9d0bsmgol:

) A(r)log(A(r)) = 1+



